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Chapter 3: Division

1.325 + 5 - 11.2515 + 25 =
2.214 + 2 = 12. 4518 + 90 =
3.524+2 = 13.2555 + 35 =
4.630+2 = 14,2739 = 913 =
5123 +21 = 15. 9889 + 124 =
6.590 + 20 = 16. 2655 + 125 =
7.672+14 = 17. 6244 + 14 =
8.852+30 = 18. 8720 + 250 =
9.1200 + 12 = 19.7233 + 300 =
10. 2415 + 12 = 20. 9524 + 320 =
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1. There are 139 872 goats in Galaxy Farm. The
cattleman wants to put all the goats in 48 sheep sheds.
How many goats in each sheep shed?

2. The factory produced 531927 AAA batteries and
packed them. There are 9 batteries in each pack. How
many packets that factory need?
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3. Mr. Lee ordered 18000 packages of chicken rice for
5000 homeless people. If he wants every homeless
person to get three packets of chicken rice, how many
packages of chicken rice Mr. Lee need to add on?

4. May's mother bought 1938 rice dumplings and planned
to distribute them to teachers, staffs and classmates
of May school. She planned to put 2 rice dumplings in a
bag and give it To one person. How many person can get
the rice dumplings?
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